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100 Questions

Que. 1 Direction: Study the following information carefully to answer the given questions.
7 persons – B, C, D, E, F, G and H are sitting on a row facing north not necessarily in the same

order. G sits three places away from D. Only one person sits between B and G. B sit neither adjacent to D nor
at the end. Number of persons to the left of H is same as number of persons to the right of C. C sits to the
right of G and to the immediate left of E.  

What is the position of F with respect to H?

Correct Option - 3

Immediate left1.
Third to the right2.
Second to the left3.
Second to the right4.
Immediate right5.

Que. 2 Four of the following five are same in some way, find the odd one.

Correct Option - 4

FB1.
ED2.
HC3.
DG4.
BE5.

Que. 3 Which of the following is true?

Correct Option - 3

C sits to the right of D.1.
Three persons sit between F and E.2.
G sits in the middle of the row.3.
H sits second to the left of D.4.
All are true5.

Que. 4 Who sits four places away from the person who sit adjacent to D?

Correct Option - 2

F1.
B2.
H3.
G4.
No one5.

Que. 5 How many persons sit to the right of H and to the left of E?
Two1.

One2.
None3.



Correct Option - 1

Three4.
Four5.

Que. 6 What is the difference between the sum of the digits of first four digits of the given number and sum
of the last four digits in the number "87345691"? 

Correct Option - 3

21.
52.
13.
74.
05.

Que. 7 Directions: In the question below are given three statements followed by two conclusions. You have
to take the given statements to be true even if they seem to be at variance with commonly known

facts. Read all the conclusions and then decide which of the given conclusions logically follows from the
given statements disregarding commonly known facts.
Statement:
I. Only east is north
II. Only a few east is south
III. All south is west
Conclusion:
I. Some north being west is a possibility
II. Some east is north

Correct Option - 2

Only conclusion I follows1.
Only conclusion II follows2.
Either conclusion I or II follows3.
Neither conclusion I nor II follows4.
Both conclusion I and II follows5.

Que. 8 Direction: In the question below are given three statements followed by two conclusions I, and II.
You have to take the given statements to be true even if they seem to be at variance from commonly

known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.
Statement:
Only a few Cap is Hat 
Only a few Hat is Crown
All Crown are Throne
Conclusion:
I. Some Hat is Throne is a possibility
II. No Throne is Hat

Only I follows1.
Both I and II follow2.
Only II follows3.
Neither I nor II follows4.



Correct Option - 4
Either I or II follows5.

Que. 9 Direction: In the question below are given three statements followed by two conclusions I and II.
You have to take the given statements to be true even if they seem to be at variance from commonly

known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.
Statements: 
Some roses are pens.
All pens are pencils.
Some pencils are markers.
Conclusions:
I. some markers are pens.
II. No marker is pen.

Correct Option - 5

Only conclusion I follow1.
Only conclusion II follows2.
Conclusion I and II both follow3.
Neither conclusion I nor conclusion II follows4.
Either conclusion I or conclusion II follows5.

Que. 10 Directions: These questions are based on the following information.
There are eight people in a family. M, K, A, C, D, E, G, and H consists of 3 generations. Four of

them are females. D and A are the daughter and son of K respectively and both are married. E is the sister of
H whose father is C. M and G are of 3rd generation and M is the son-in-law of E. K is the brother-in-law of
H.

How is K related to A?

Correct Option - 2

Son1.
Father2.
son-in law3.
Daughter-in-law4.
Mother5.

Que. 11 Who among the following is the son-in-law of C?

Correct Option - 3

G1.
A2.
K3.
H4.
Cannot be determined5.

Que. 12 Who among the following belongs to the first generation?
C1.

H2.



Correct Option - 1

K3.
A4.
E5.

Que. 13 Direction: Study the following information carefully to answer the given questions.
7 boxes – P, Q, R, S, T, U and V – are placed one above the other not necessarily in the same order.

Box U is placed third from either of the ends. Box P is placed adjacent to box U. Three boxes are placed
between boxes P and S. Number of boxes placed above box S is two more than the number of boxes placed
below box V. Box Q is placed above box R, which is not placed below box S. 

How many boxes are placed between boxes R and P?

Correct Option - 4

One1.
Three2.
None3.
Two4.
More than three5.

Que. 14 Which box is placed three boxes below box U?

Correct Option - 3

V1.
Q2.
S3.
T4.
R5.

Que. 15 Number of boxes placed below box Q is same as the number of boxes placed above box ___.

Correct Option - 4

P1.
R2.
S3.
T4.
None of the above5.

Que. 16 Which of the following is false?
a. Box T is not placed at the bottom.

b. Box V is placed immediately above box R.
c. More than four boxes are placed between boxes Q and S.

Correct Option - 4

Only a1.
Only a and b2.
Only c3.
Only a and c4.
Only b and c5.



Que. 17 If all the boxes are arranged to place in the alphabetical order from bottom to top, then how many
boxes remain unchanged?

Correct Option - 1

One1.
Two2.
Three3.
None4.
More than three5.

Que. 18 How many such pairs of letters are there in the word "UNIQUE" which has as many letters
between them in the word (in both forward and backward directions), as they have between them in

the English alphabetical series?

Correct Option - 4

One1.
Two2.
Three3.
None4.
More than three5.

Que. 19 Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: W = B; B ≤ F; F < R
Conclusions:
I. W = F
II. W < F

Correct Option - 3

Only I is True1.
Only II is True2.
Either I or II is True3.
Neither I or II is True4.
Both I and II are True5.

Que. 20 Directions: In the following question assuming the given statements to be true, find which
conclusion among the given conclusions is/are definitely true and then give your answers

accordingly.
Statements: F < A > B = E; D < C = G > E
Conclusions:
I. A > E
II. E > D

Correct Option - 1

Only I is true1.
Only II is true2.
Either I or II is true3.
Both I or II is true4.
Neither I or II is true5.



Que. 21 Direction: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.

Statements: J > D > A ≥ S; C > X ≤ F ≤ S
Conclusions:
I. D ≥ X
II. C > A

Correct Option - 2

Only II is True1.
Neither I nor II is True2.
Both I and II are True3.
Either I or II is True4.
Only I is True5.

Que. 22 Directions: Study the following information carefully to answer the given questions:
Kashish went 15 kilometers to the West from my house, then turned right and walked 20

kilometers. He then turned East and walked 25 kilometers and finally turning right covered 20 kilometers.
How far was he from his house?

Correct Option - 2

5 kilometers1.
10 kilometers2.
40 kilometers3.
80 kilometers4.
20 kilometers5.

Que. 23 Direction: Study the following information carefully to answer the given questions.
Eight persons – A, B, C, D, W, X, Y and Z –are living in a four-storey building such that ground

floor is numbered as 1, the floor immediately above floor 1 is numbered as 2 and so on. Each of the floors
has two flats in it as flat P and flat Q. Flat Q is to the east of flat P. Flat P of floor 2 is immediately above the
flat P of floor 1 and immediately below the flat P of floor 3 and so on. In the same way, flat Q of floor 2 is
immediately above the flat Q of floor 1 and immediately below the flat Q of floor 3 and so on.
D lives immediately above the flat in which A lives in the same flat but not in flat Q. There are two floors
between the floor on which A and Z live. There is only one floor between the floors on which Z and B live. Y
who lives on an even numbered floor lives above the floor on which C lives. C lives below the floor on which
X lives. C and X live in the same flat but not with Z.    
In which flat and on which floor does W lives?

Correct Option - 3

Flat Q, Floor 31.
Flat P, Floor 42.
Flat P, Floor 33.
Flat Q, Floor 14.
Flat P, Floor 25.

Que. 24 Who lives on the same floor with Z?
Y1.

X2.
B3.
C4.



Correct Option - 1
A5.

Que. 25 Four of the following five are same in some way, find the odd one.

Correct Option - 3

W1.
A2.
D3.
C4.
X5.

Que. 26 If W and B interchange their position, then who among the following lives immediately below B?

Correct Option - 3

C1.
A2.
D3.
X4.
Y5.

Que. 27 Which of the following is true?

Correct Option - 4

Z lives in flat Q.1.
B and X live in different flats.2.
Y lives on floor 2.3.
D lives below the floor on which W lives.4.
All are true5.

Que. 28 Direction: Study the following arrangement carefully and answer the questions given below:
N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F

How many such symbols are there in the above series which is immediately followed by a consonant and
immediately preceded by vowel?

Correct Option - 3

Two1.
Three2.
One3.
Four4.
None of these5.

Que. 29 If we remove all the symbols from the above series then which among the following alphabet is the
9th from the right end?

R1.
Q2.
D3.
A4.
None of these5.



Correct Option - 4

Que. 30 Which among the following elements is 5th to the left of 7th from the right end of the series?

Correct Option - 2

T1.
A2.
&3.
@4.
None of these5.

Que. 31 How many such vowels are in the series given each of which is immediately followed by symbol
and immediately preceded by a letter?

Correct Option - 1

Two1.
One2.
Three3.
Four4.
Five5.

Que. 32 If all the symbols are replaced with a digit 5 then how many such 5’s are there in the new series
each of which is followed by a consonant?

Correct Option - 2

Five1.
Six2.
Four3.
Eight4.
Two5.

Que. 33 Directions: Read the following information carefully and answer the questions that follow:
There are six members in the group - A, B, C, D, E and F who score different marks in an exam.

All are sitting in a row according to their marks. B scores the second highest mark. Marks of F is less than  D.
A scores fewer marks than C and E. F is the third highest score in the group and has scored 56 marks. D is
the highest scorer in the group. 

Who score second highest in the group?

Correct Option - 2

A1.
B2.
E3.
F4.
C5.

Que. 34 Who score second lowest marks in the group?
E1.

B2.
C3.



Correct Option - 5

D4.
Either option 1 or option 35.

Que. 35 If sum of F and B mark is 116. then what is possible marks of D?

Correct Option - 1

601.
622.
583.
574.
565.

Que. 36 If the numerator of a certain fraction is increased by 80%, while the denominator is increased by
200%, then the ratio of the numerator and denominator becomes 21:50, what will be the actual

fraction?

Correct Option - 3

5/71.
7/82.
7/103.
8/114.
5/85.

Que. 37 A certain work was completed by A in 9 days, B in 12 days, C in 15 days, If A and C did work for
4 days and then leftt, then B will finishes rest work in how many days?

Correct Option - 2

4(2/3) days1.
4(1/3) days2.
4(1/4) days3.
4(1/5) days4.
4(1/2) days5.

Que. 38 In the given question, two equations numbered l and II are given. Solve both the equations and
mark the appropriate answer.

I. 5x2 + 26x + 33 = 0

II. y2 + 18y + 65 = 0

Correct Option - 1

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y can not be established.5.

Que. 39 In the given question, two equations numbered l and II are given. Solve both the equations and
mark the appropriate answer.

I. 6x2 - 23x + 20 = 0



II. y2 - 5y + 4 = 0

Correct Option - 5

x > y1.
x < y2.
x ≥ y3.
x ≤ y4.
x = y or relation between x and y can not be established.5.

Que. 40 In the given questions, two equations numbered l and II are given. You have to solve both the
equations and mark the appropriate answer.

I. x2 + 30x + 81 = 0

II. y2 + 26y + 48 = 0

Correct Option - 2

x < y1.
No relation in x and y or x = y2.
x > y3.
x ≤ y4.
x ≥ y5.

Que. 41 In the given questions, two equations numbered l and II are given. You have to solve both the
equations and mark the appropriate answer.

I. x  - 14x + 45  = 0

II. y  - 11y + 30 = 0

Correct Option - 5

2

2

x ≤ y1.
x > y2.
x ≥ y3.
x < y4.
No relation in x and y or x = y5.

Que. 42 Two equations I and II are given below in question. You have to solve these equations and give the
answer.

I. x2 + 13x + 42 = 0

II. y2 + 21y + 104 = 0

Correct Option - 2

x < y1.
x > y2.
x ≤ y3.
x ≥ y4.
x = y or the relation between x and y can't be established.5.

Que. 43 What approximate value should come in the place of question mark (?) in the following question?
[(15.98 + 9.99) ÷ 1.99] × 4.98 = ?  + 1.093



Correct Option - 4

111.
82.
23.
44.
55.

Que. 44 What approximate value should come in place of the question mark (?) in the following question?
(222.22 + 71.98) ÷ 2.99 = 8.99% of 299.99 + 29.99 + ?

Correct Option - 2

311.
412.
213.
114.
515.

Que. 45 What approximate value should come in place of the question mark (?) in the following question?
220.89 + 2.12  + 205.96 =  1.99 × ? + 214.98 

Correct Option - 5

3

901.
1002.
1203.
804.
1105.

Que. 46 What will come in the place of the question mark ‘?’ in the following question?
52% of 150 + 15 × 35 - √841 × 8 = ?

Correct Option - 3

3721.
3732.
3713.
3704.
None of these.5.

Que. 47 What will come in the place of the question mark ‘?’ in the following question?
80% of 140 = 25 × 8 - ? + 12 × 4

Correct Option - 4

1471.
1372.
1463.
1364.
None of these5.

Que. 48 What will come in the place of the question mark ‘?’ in the following question?



131 × 6 + 189 = 210 ÷ 7 + ?% of 63

Correct Option - 2

14001.
15002.
15503.
14504.
None of these.5.

Que. 49 What will come in the place of the question mark ‘?’ in the following question?
17 × √9 + 30% of 200 = 25% of 80 + ? × 13

Correct Option - 1

71.
12.
93.
54.
None of these.5.

Que. 50 What will come in the place of the question mark ‘?’ in the following question?
44 × 46 – 80% of 1900 = √441 × ?

Correct Option - 2

231.
242.
283.
144.
None of these5.

Que. 51 What will come in the place of the question mark ‘?’ in the following question?
?% of 400 × (3/4) + 300 = 66.66% of 900 

Correct Option - 1

1001.
2602.
703.
1804.
505.

Que. 52 What will come in the place of the question mark ‘?’ in the following question?
 25% of 212 + 5% of 140 = 2 × 11% of 500 + ?

Correct Option - 3

-461.
-322.
-503.
-604.
-255.



Que. 53 What will come in the place of the question mark ‘?’ in the following question?
√81 + 162 ÷ 18 = 297 ÷ 33 + (?)

Correct Option - 4

2

81.
62.
133.
34.
None of these.5.

Que. 54 What will come in the place of the question mark ‘?’ in the following question?
33 × √25 - 30% of 200 = 25% of √1296 + ? × 12

Correct Option - 2

71.
82.
93.
54.
None of these.5.

Que. 55 What will come in the place of the question mark ‘?’ in the following question?
?% of 550 × (3/5) + √625 = 28.57% of 630 + 10

Correct Option - 5

1001.
2602.
703.
1804.
505.

Que. 56 What will come in the place of the question mark ‘?’ in the following question?

112 + 120 ÷ 12 × 2 = ? – 30

Correct Option - 4

2701.
1372.
1903.
1714.
None of these.5.

Que. 57 What will come in the place of the question mark ‘?’ in the following question?

25% of 28 - 20% of 30 + 22 = 5 × ?

Correct Option - 1

11.
22.
33.
04.
45.



Que. 58 In the below given table, the total number of headphones, Adaptors and Chargers sold by
five different companies in 2019 is given. On the basis of the given data determine the

answered of the questions asked.
Companies Headphone Adaptor Charger
I 500 150 150
J 650 100 200
K 750 100 300
L 800 200 400
M 500 250 500

In 2020, a new company T&T joins, and it was found that the sale of headphone for the company is 40%
more than the sale of headphone by L in 2019, while the sale of Charger by the company is 30% less than the
sale of charger by K in 2019. Find the total number of the headphones and chargers sold by T&T company in
2020?

Correct Option - 3

14001.
13902.
14103.
14304.
14705.

Que. 59 If each company has targeted to increase their sale of chargers by at least 25% in 2020, but it was
found that I, J and K have scale up their target only by 20%, while M have scale up by 35%. The

sale of charger by M in 2020 is approximately what percent to the sale of I,J and K in 2020?

Correct Option - 3

84%1.
85%2.
87%3.
77%4.
80%5.

Que. 60 If the sale for headphones is increased by 50% in 2020, and sale for Adaptor is increased by 40% in
2020 for shop M, then what will be the new ratio of sale of headphones and adaptors in 2020?

Correct Option - 4

5:171.
5:142.
7:113.
7:154.
8:135.

Que. 61 If in 2020 the total sales of Headphones for all the shops are increased by 120%, what will be the
number of Headphones sold by shop M, if it was considered that half of the Headphones are sold

from M and L?
20901.
21902.
20703.



Correct Option - 1

22404.
19905.

Que. 62 What will be the total ratio of the Headphones and the Chargers sold by all of the company in
2019?

Correct Option - 4

55:311.
54:312.
57:313.
58:314.
59:315.

Que. 63 A boat having a speed of 12 Kmph covering a distance of 36 Km in upstream, and a distance of 30 
Km in downstream. if the time taken by the boat to cover the distance in up and down is in ratio of 

2:1. Find the speed of the stream.

Correct Option - 1

3 Kmph1.
4 Kmph2.
5 Kmph3.
6 Kmph4.
8 Kmph5.

Que. 64 If the height of the triangle is 24 cm, and the area of the triangle is 168 sq. cm. The perimeter of the
rectangle is 84 cm. If it were given that the base of a triangle is equal to the breadth of a rectangle.

Find length of rectangle.

Correct Option - 3

30 cm1.
32 cm2.
28 cm3.
40 cm4.
25 cm5.

Que. 65 If the ratio of Income of 2 companies is 7 : 5, while it was found that the ratio of expenditure is 5:3,
If both the companies saves Rs.10,000 in each month. Find sum of monthly income of both the

companies?

Correct Option - 3

Rs. 500001.
Rs. 550002.
Rs. 600003.
Rs. 650004.
Rs. 700005.

Que. 66 The average weight of 80 students in a class is 30kg. The number of girls in a class are 40% less
than the number of boys in a class. The average weight of girls in a class is 24kg. Find the

difference between the average weight of boys and average weight of girls in a class.



Correct Option - 4

12.6 kg1.
7.5 kg2.
11.9 kg3.
9.6 kg4.
12.8 kg5.

Que. 67 There are 3 friends named Sahil, Tanya, and Deepak. it was found that the average age of Sahil and
Tanya is 22 years. While the ratio of Sahil and Deepak's ages is 7:5, and the sum of all the friends

together is 72 years. what will be the present age of Tanya?

Correct Option - 1

14 years1.
20 years2.
12 years3.
18 years4.
24 years5.

Que. 68 A sum of money gives an interest of 1/5 of itself in T years, when it is given in the rate of 10%,
Find amount after (T+3) years.

Correct Option - 4

1.2 P1.
1.25 P2.
1.35 P3.
1.5 P4.
1.6 P5.

Que. 69 Monthly income of a person was Rs. 36,000. if he spent 25% on food, 12 % on his children's
education and saves x% in bank account. After the calculation, he found that he was left with Rs.

2160. Find the sum of amount which he saves in his bank.

Correct Option - 3

Rs. 188401.
Rs. 164202.
Rs. 205203.
Rs. 221404.
Rs. 247205.

Que. 70  A train having a certain length of x m covers the two different platforms having lengths of 140 m
and 180 m in 18 sec and 20 sec, respectively. Find speed of train (in kmph).

Correct Option - 2

70 Kmph1.
72 Kmph2.
75 Kmph3.
78 Kmph4.
80 Kmph5.

Que. 71



Directions: Read the following passage and answer the following questions. Some words are
highlighted to help you answer some of the questions.
With the Humane Agrarian Centre, a one-of-a-kind rural museum, Prem Singh’s farm stands as an exception
in the hilly region of Bundelkhand, divided between Madhya Pradesh and Uttar Pradesh. The land is
otherwise synonymous with droughts, farmer suicides, unemployment as a result of crop failure, extreme
weather conditions with below-average rainfall, and low water availability. Despite all the odds stacked
against him, Prem Singh made out against these tribulations as a farmer who went debt-free without loans
from the banks only by using taking the less travelled road. Singh’s lush green farmland paints a vivid picture
of sustainable farming: organic produce and homegrown compost, fruit-bearing trees, livestock shelter with
water- bodies, well-nourished soil, natural fertilisers and, most importantly, a continuous source of income.
Born into a family of farmers, Prem (54) grew up on the fields amidst the once lush green farms, fresh
harvest and livestock. After studying MA Philosophy at Allahabad University and Management in Rural
Development from Mahatma Gandhi Chitrakoot Gramoday Vishwavidyalaya, he joined his ancestors
occupation and began farming in 1987. Despite toiling daily, Prem’s family continued to be in loss; bank
loans and interest rate increased with each passing loan repayment date. Two years into the profession, he
realised that something was wrong: conventional agriculture was proving to be very expensive and his family
began slipping into debt. Further, the increased use of fertilisers and chemicals proved to be harmful to the
soil’s ecological balance.
That is when he started to look for alternative ways of farming and his meeting with Nagraj helped. In 1989,
he sought his father’s permission to start experimenting with sustainable and traditional farming in a small
part of his land.
Prem Singh of Banda district in Uttar Pradesh now practices Avartansheel  Kheti, also known as Periodic
proportionate farming, which he says is the way forward for farmers in the country. Avartansheel Kheti is
based on the philosophy of A Nagraj, who was a proponent of harmonious co-existence. Singh believes that
nature value adds to everything, like trees add value to the soil nutrients by producing fruits. Similarly,
farmers should also process everything before selling. Avartansheel Kheti insists that farmers should produce
food for themselves first and what remains after consumption should be sold in the market. This way, the
farmer will never put harmful pesticides and fertilisers if they are growing for themselves.
He explains the method of his technique: the farmer would have to utilise his farm by dividing it into three
parts: core one-third would be used for rearing fruits and crops, the outer one-third for growing timber and
the remaining portion for animal husbandry. The outer circle of trees shields the inner crops from wind and
reduces the intensity of the weather extremities.
Mr Singh now processes all the produce from his farm, He makes pickle out of turmeric; candy and powder
out of amla (gooseberry), sattu or gram flower __________ chickpeas, and produces paneer from milk. He
also gets about 15-20 tonnes of mango every year, which he sells in the open market. Middlemen, he
thinks, are one of the biggest problems for farmers and he says that the only way to reach the consumer
directly is by processing the produce at the farm level.
Mr. Singh’s multi-pronged technique, pioneered and implemented by him for over a decade, is similar to the
idea of farming Prime Minister Narendra Modi has been propagating in his addresses to farmers.

What are the processed foods Prem produces and sells?

Correct Option - 5

Pickle from turmeric1.
Candy and powder from amla2.
Gram flower from chickpeas3.
Paneer from milk4.
All of the above5.

Que. 72 Which of the following is/are correct according to the given passage?
A. Prem did Master's in Philosophy from Allahabad University and Management in Rural

Development from Mahatma Gandhi Chitrakoot Gramoday Vishwavidyalaya.
B. Prem's family was not associated with farming before his entry into the occupation.



C. Prem's meeting with Nagaraj influenced him to change his way of farming into Avartansheel  Kheti.

Correct Option - 3

Only A1.
Both A & B2.
Both A & C3.
Both B & C4.
Only C5.

Que. 73 Which of the following is correct according to the given passage?

Correct Option - 1

Prem's family was incurring loss when they were following the traditional methods.1.
Prem always wanted to move away from the farming occupation.2.
Mr Singh believes that despite other problems with the middle men, they can really help the farmers.3.
Periodic proportionate farming requires dividing the land in four equal parts.4.
Mr Singh thinks that the only way to reach the consumer directly is by delegating the step of
processing the produce to the middlemen.

5.

Que. 74 Which of the following is incorrect, according to the given passage?

Correct Option - 4

Periodic proportionate farming is based on the philosophy of A Nagraj.1.
In Avartansheel  Kheti, the outer circle of trees shields the inner crops from from various kinds of
weather extremities.

2.

Mr Singh suggests that the farmers should only sell the remaining produce in the marketproduce after
keeping food for themselves

3.

Mr Singh sells the mangoes harvested from his farm directly to the rural mandis.4.
Mr Singh opines that farmers should also process everything before selling5.

Que. 75 Out of the given alternatives, choose the one which is most similar to the meaning of the given
word.

Start

Correct Option - 5

Surcease1.
Halt2.
Pause3.
Conclude4.
Begin5.

Que. 76 Out of the given alternatives, choose the one which is most opposite to the meaning of the
given word.

Shield

Correct Option - 5

Protect1.
Obfuscate2.
Defend3.
Screen4.
Imperil5.



Que. 77 What will fit in the blank taken from the passage:
"He makes pickle out of turmeric; candy and powder out of amla (gooseberry), sattu or gram

flower __________ chickpeas, and produces paneer from milk."

Correct Option - 3

in with1.
make from2.
out of3.
out with4.
along with5.

Que. 78 According to the passage, which of the following is NOT a problem plaguing the agrarian scenario
of Bundelkhand?

Correct Option - 4

Below average rainfall and droughts1.
Farmer Suicide2.
Low water availability3.
Lack of goods transport facilities4.
None of these5.

Que. 79 Which of the following cannot be inferred from the passage?

Correct Option - 3

It is possible to earn more through Periodic proportionate farming than following traditional
method

1.

Making farmers produce food for themselves first before selling the produce in the market will
reduce the possibility of their putting harmful pesticides and fertilisers.

2.

Periodic proportionate farming can solve the problem of water availability in India completely.3.
Mr Singh's approach towards farming is similar to that of the Prime Minister Narendra Modi.4.
None of these5.

Que. 80 Directions: The following sentence has been split into five segments. Identify the segment that
contains a grammatical error.

The law further provide (A)/ for the re-engagement (B)/ of men of all ranks, (C)/ under conditions varying
(D)/ according to their rank (E)/.

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 81 Direction: Find out which part of the sentence has an error and select the appropriate option. 
If a sentence is free from error, select 'No Error'.

To maximize the scholarship (A)/ opportunities, we should focus (B)/ on our educations and keep (C)/ our
priorities in the right place.(D)/ no error

A1.



Correct Option - 3

B2.
C3.
D4.
NO ERROR5.

Que. 82 Read the sentence below to find out if there is any error in it. The error, if any, will be in one 
part of the sentence. The letter of that part is the answer. If there is no error the answer is (5). 

(Ignore errors in punctuation if any).
Three men were arrested for alleged (A)/ impersonating civic body officials (B)/
and extorting money from shopkeepers (C) /in east Delhi’s Mansarovar Park, the police said on Sunday. (D)/.
No Error. (E)

Correct Option - 1

A1.
B2.
C3.
D4.
E5.

Que. 83 Directions: In this question, a sentence has been divided into five parts (A), (B), (C), (D), and
(E). Read the sentence to find out whether there is any grammatical error in it. The error if

any, will be in one part of the sentence. If there is no error, the answer is 'No error'. Ignore the error of
punctuation if any.
A pair of supportive (A)/ shoes are important (B)/ if you are (C)/ experiencing lower back pain. (D)/ No error
(E)

Correct Option - 2

A1.
B2.
C3.
D4.
E5.

Que. 84 Read the sentence below to find out if there is any error in it. The error, if any, will be in one 
part of the sentence. The letter of that part is the answer. If there is no error the answer is (5). 

(Ignore errors in punctuation if any).
 The result was a material(A)/ which was tough(B)/ or tensile, possessing (C)the dexterity of fabric.(D)/ No
error(E)

Correct Option - 3

A1.
B2.
C3.
D4.
E5.

Que. 85 Directions: In the following passage, there are blanks, each of which has been numbered.
Against each five words are suggested one of which fits the blank appropriately. Find out the

appropriate word in each case.



Good nutrition has the potential to __(A)__ the present and future generations. India’s greatest national
__(B)__ is its people — especially women and children – but even after 75 years of independence, a __(C)__
of them do not get the required diet to meet their nutritional needs. A child’s nutritional status is directly
linked to their mother. Poor nutrition among pregnant women affects the nutritional status of the child and
has a greater chance to __(D)__ future generations. Undernourished children are at risk of underperforming
in studies and have limited job prospects. This __(E)__ cycle restrains the development of the country, whose
workforce, affected mentally and physically, has reduced work capacity. While there has been some progress
in tackling malnutrition among children and women over the past decade, the improvement has been modest
at best. This is despite declining rates of poverty, increased self-sufficiency in food production, and the
implementation of a range of government programmes.

Which of the following words most appropriately fits the blank labelled (A)?

Correct Option - 1

empower1.
enervate2.
exhaust3.
undermine4.
beholden5.

Que. 86 Which of the following words most appropriately fits the blank labelled (B)?

Correct Option - 3

burden1.
coterie2.
treasure3.
totem4.
rancour5.

Que. 87 Which of the following words most appropriately fits the blank labelled (C)?

Correct Option - 5

many1.
much2.
most3.
little4.
majority5.

Que. 88 Which of the following words most appropriately fits the blank labelled (D)?

Correct Option - 2

empower1.
affect2.
improve3.
embolden4.
enable5.

Que. 89 Which of the following words most appropriately fits the blank labelled (E)?
seasonal1.

lunar2.
natural3.



Correct Option - 4

vicious4.
complete5.

Que. 90 Which of the phrases given in the options should replace the word phrase that is underlined
in the sentence to make it grammatically correct? If the sentence is correct as it is and no

correction is required, select 'No correction required' as the answer.
The car I brought is ten times cheaper than his luxury car.

Correct Option - 2

cheaper then1.
as cheap as2.
cheap than3.
as cheap than4.
No correction required5.

Que. 91 Which of the phrases given in the options should replace the word phrase that is underlined
in the sentence to make it grammatically correct? If the sentence is correct as it is and no

correction is required, select 'No correction required' as the answer.
As a law-abiding citizen, it was difficult to put on with the anti-government group of neighbours with
questionable activities.

Correct Option - 3

put off with1.
put out with2.
put up with3.
put down with4.
No correction required5.

Que. 92 Which of the phrases given in the options should replace the word/phrase that is underlined
in the sentence to make it grammatically correct? if the sentence is correct as it is given and

no correction is required, select 'No correction required' as the answer.
The committee was split on whether the new regulations for the National Health Protection Scheme should
be implemented.

Correct Option - 1

were split on whether 1.
is split on whether 2.
has been split on whether 3.
was split over whether4.
No correction required5.

Que. 93 A sentence/ a part of sentence underlined.5 alternatives are given to embolden parts that will
improve the meaning of the sentence. Choose the correct alternative. In case, no improvement

is needed, click the option corresponding to 'no improvement'
Moral ethics are to be taught to the students at an early age by their parents, teachers, and society for their
overall development.

is to be1.
are be2.
were to be3.



Correct Option - 1

was to be4.
No Improvement5.

Que. 94 In the following sentence, a part of the sentence is underlined. Below are given alternatives to
the underlined part, which may improve the sentence. Choose the correct alternative. In case

no improvement is needed, choose the alternative that indicates 'No improvement'.
Due to its complex tribal equations and rugged mountainous terrain, Rajasthan has historically be an difficult
place for external invaders.

Correct Option - 2

historic has a difficult place1.
historically been a difficult place2.
historically being a difficult place3.
historically been a difficult places4.
No improvement5.

Que. 95 Given below is a sentence that may or may not be grammatically viable, choose the most
suitable alternative that reflects the grammatically correct sentence. 

He would often say the exact opposite of what he had said on a previous occasion, so both points would be
right after the debate had ended.

Correct Option - 3

and both points1.
so both points2.
yet both points3.
nor both points4.
or both points5.

Que. 96 In the following question, a sentence is given with three words marked as (A), (B) and (C).
These words may or may not be placed in their correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer. 
In the rainfall (A) when water droplets (B) fuse together and become heavy, they come down as clouds. (C)

Correct Option - 2

ABC1.
CBA2.
BCA3.
CAB4.
No Rearrangement5.

Que. 97 In the following question, a sentence is given with three words marked as (A), (B) and (C).
These words may or may not be placed in their correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer. 
The lungs (A) of the RBC transports haemoglobin (B) from the oxygen (C) to all the cells of the body. 

BCA1.
ABC2.
CAB3.



Correct Option - 1

BAC4.
No Rearrangement5.

Que. 98 In the following question, a sentence is given with three words marked as (A), (B) and (C).
These words may or may not be placed in their correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer. 
The use of atmosphere (A) is responsible for causing an increase in fossil fuels (B) concentration in the
carbon dioxide(C). 

Correct Option - 4

BAC1.
ABC2.
CAB3.
BCA4.
No Rearrangement5.

Que. 99 In the following question, a sentence is given with three words marked as (A), (B) and (C).
These words may or may not be placed in their correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer. 
Virus (A) countries have faced a large developing (B) due to the recent onset of the Corona setback (C)
worldwide. 

Correct Option - 4

ABC1.
CAB2.
CBA3.
BCA4.
No Rearrangement5.

Que. 100 In the following question, a sentence is given with three words marked as (A), (B) and (C).
These words may or may not be placed in their correct order. Four options with different

arrangements of these words have been provided. Mark the option with the correct arrangement as the
answer. If no rearrangement is required, mark option (5) as your answer. 
The puppy was finally found faint (A) in the nearby park, it was dehydrated (B) and about to roaming. (C)

Correct Option - 1

CBA1.
CAB2.
ABC3.
BAC4.
No Rearrangement5.
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